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I ndian Army general duty sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER GENERAL DUTY

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. The chief ore of Aluminium is
Qﬁlﬁrﬁm%g@ U 7

Iron / QrgT

Cryolite / swaifere

Bauxite / Sigarse
Hematite / gafee

o oo

02. Deficiency of Iron leads to
ATRA B HH P RO 82
a. Rickets / g@1 [T
b. Malaria / qafar
c. Dental Cavity / fafdrce i g1
d. Anaemia /g HI HHI

03. The famous Integral Coach
Factory(ICF) for the manufacture
of railway coaches are situated at
R $EUa S baed) Wil $t Yad S BT
frrmfor et & Fror & et Rya 2
a. Kolkata / ®ledhd
b. Borivali / SRtqeh
c. Perambur / TR§x
d. Chittaranjan / foriReH

04. Which is known as Pink city in India

DI T MR TS R & AR | ST A1l 82

a. Mysore /TR
b. Karnataka / e

c. Hyderabad / 83reTg
d. Jaipur /SAQR

05. Country that is called as Land
of Rising Sun
“JATed BT =" fHA Hg1 AT B
a. Russia/ =4
b. Japan /S

c. Korea/sIan
d. Holland / gTds

06. Sharavati project is in
TR U FEl 82
a. Orissa/3s
b. Kerala/oxd
c. Andhra Pradesh / 3figf Uer
d. Karnataka / &fcs®

07.The language spoken by the people
by Pakistan is
Uity T Sl ST aredt e @

Hindi / &t

Palauan / @i

Sindhi / st

Nauruan / SRsor

o0 o

08.The World's Largest desert is
fay &1 9a Fe1 PRI P AT B2
a. Thar/uR
b. Kalahari / #aERt
c. Sahara/g8RI
d. Sonoran /TFRA

09. Country that has the highest in
Barley Production
DI AT S YT TSI S STG BT 82
a. China/dH
India / fgar
c. Russia/ =9
d. France /%™

10. The metal whose salts are sensitive
to light is e '
a8 uTq FF& wraur yere & Wi e §
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Zinc / Ni&
Silver / RieaR
Copper / IR

Aluminum / Tgffag

11. The Central Rice Research Station
Is situated in
a. Chennai /<38
b. Cuttack / ®cdh
c. Bangalore / STER
d. Quilon /&AM

oo

12. Mount Everest is located in
HTSC TaRE Pl [eUd 32

India / gfean

Nepal / Adrel

Tibet / fassd

China /=4

20 oo

13. Which soil is suitable for agriculture
ﬁ“ﬁﬁé’f?ﬁ%ﬁmm%’

Red soil / et gt

Sand / Xd

Black soil / &reit firgt

Alluvial soil / Sidlie gaT

o0 o

14. Black soils are best suited for
the cultivation of
Frelt gt fore @t & fRrg s 82
a. Cotton/pUrg
b. Rice/=dd
c. Cereals/ 3[A9
d. Sugarcane /a1

15. The device used for measuring
altitudes is
et TR & foU S | @1
?Rﬁm?rﬁ?mﬁm g
Altimeter / 3fediHieR
Ammeter / 3T
Audiometer / 3fffeariiex
Galvanometer / TaaHHIeR

oo o
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20.
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The Gateway of India is
ﬂa%wg%m 81 0?
Chennai / 993
Mumbai / T=5
Kolkata / ®iedhdl
New Delhi / 78 feeedt

o0 o

The first chairman of the Atomic
Energy Commission was
YRHTY] Sl START & YU & B A2
a. Dr.C.V.Raman /Sl dt394
b. Dr.H.J.Bhabha / l.Ta & {141

. Dr.A.P.J.Abdul Kalam / €f.T dt.

. 3egd HaAH

d. Dr.Vikram Sarabhai / Sf.fasH IRIHTE

D.D.T. was invented by

D.D.T. fa® grRT Snfaser far mar un
a. Paul Muller / ofd RIeR

b. Rudolf / TSIk

c. Karl Benz / &1d o1

d. Dalton/ STeed

Which is considered as the
biggest port of India

HRA P HTH ST SGUE DI A1 32
a. Kolkata / ®iedhdl

b. Cochin / A

c. Chennai /398

d. Mumbai / =8

The gas used for making vegetables is
Toofl 91 & e s A R &1

WART f3ar ST 37

Oxygen / TS

Carbon dioxide / ®Td SRS
Hydrogen / gTsgioH

Nitrogen / TS

o0 o p
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Which of the following has

the strongest Bleaching property

e o 3 foae ga9 yegg fave= o gian
2

a. Chlorine / ¥4

b. Fluorine / 3&1q awd

c. Bromine / sifi=

d. lodine / 3mAEH

The most abundant element in
the earth’s subse is
me S UTar S 91 d /T

O

Al
Si

c

o0 T W

Which of the following gases do

not form Part of the atmosphere
fFrafafaa & @ o4 @ 9 aamaRu &1
fewm di @2

a. Nitrogen / A1S¢IeH

b. Chlorine / FRH

c. Carbon dioxide / HTe STEHTRIZS
d. Oxygen / JfTRfS

Nitric acid does not react with

ATsfe® TRYs frad Ty ufaferar A8t ®var
87

a. Copper / HIR

Gold / M

Silver / RieaR

Zinc / fSie

20 o

Brass gets discolored in air

because of the presence of which

of the following gases in air

Frafafaa il o & daa gar &y fea
F WU H M W BIHT U8 14T 82

a. Oxygen / 3fTRiTSH

b. Hydrogen Sulphide / gE3ISH AehIsS
c. Carbon dioxide / HTe SEHTRIZS

d. Nitrogen / ArSgreH

4ono.com
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28.

29.
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The bell metal is an alloy of
TRl Ft gud fw urg o fryor A gt @
a. Nickel and copper / fA&a 3R dfd

b. Zinc and copper / fSid 3R a0

c. Tinand copper / f&=1 3iR afa

d. Tin and aluminum /77 3R Teghfom

Parsec is used to measure

5 9o & fore Sua fa <van 32

a. Brightness of heavy body / f&dt &St
I B! I

b. Astronomical distance / Gea g3t
Density of stars / RaR| & @

d. Orbital velocity of giant stars / fa=mel

TR 1 H&fT BT a7

By fixation of nitrogen, what is meant?

T T RRIHROT I 1 I §

a. Manufacture of nitrogen / ATSgIoH &1
fmfor

b. Liquefaction of nitrogen/ArsgioH &
SaTHRT

c. Conversion of nitrogen into nitric acid
| T3 TRTS | ATSCIoH BT FUiaRul

d. Conversion of atmospheric nitrogen into
Useful compounds / Suaift et 7
IRGHSH TSI BT FUIARUI

Atoms of the same element, i. e.,
having the Same atomic number that
differ in atomic Weight, are called

Y e e wRHTY] HHiS IUH A 3
AP URHTY] YR STET ST Bid af T
HEAd 3

a. lsotopes / FHYUTE

b. Isomers / GHIGT4!

C. lIsoelectric / FAAHT

d. Isotherm / FHATY 3&T

Download More @ www.40no.com

4ono.com

4ono.com


http://www.4ono.com/

4ono.com 4ono.com

30.

31.

32.

33.

4ono.com 4ono.com 4ono.com 4ono.com

The quantum number that tends
to specify the orientation in space
for an orbital is the

4ono.com

34.

g YHTAT ST T g oY 3iaiver § wem &1

fa=mford=r st @2

a. Principal quantum number / 5% UHET

AT

b. Orbital quantum number / Fefta oo

piees)|

c. Magnetic quantum number / Ja&id
UHTAT I=AT

d. Spin quantum number / ThUT AT
Biees)|

Oxygen is manufactured by
the fractional Evaporation of

35.

fpad arifdre arefiezor @ il g=dr

[
a.  Water / Ot
Liquid air / d¥dl gdTl

b
c. Hydrogen peroxide / gT3gISI UIaHl
d. Liquid oxygen / qRd fiete

Sodium burns in air to give
AIfETH ga1 & AUS | 3 TR HIT ST 82
Sodium peroxide / Sfead WARS

e o o

Sodium oxide and sodium nitride /

qQifeoy 3fiazs 3R QifsgH T8RS

Argon gas was discovered by

M A9 B @ g Ft <t

a. William Ramsay / faferad w1
b. Charles / Tt

c. Cavendish / dafswr

d. John Davy /S gd

IS

36.

Sodium hydroxide / o™ gESiES
Sodium monoxide / Tifsaw AARISS

37.
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Formaldehyde is the starting
material for the manufacture of
BIHcegIsS [y Ueiy &1 a9 &1 ugdl
TR BIAT 82

a. D.D.T/SIE1d

b. Rayon /X

c. Bakelite / & fere

d. Caprolactam / &WicideH

Carbohydrates are the compounds of
mﬁéfﬁmﬁ?!ﬁm%v
Carbon and hydrogen / &T&H 3R

b. Carbon, oxygen and hydrogen / &Te,

HTRASH 3R grFSIoH

c. Carbon, oxygen, hydrogen and
nitrogen / &Ta, 3fiaTor, BIggIeH 3R
BIEGIE

d. Carbon, nitrogen and hydrogen / &Te,
ATECIoH SR gRGIoH

The tides in the ocean are due to

% ¥ WR fPad FRUER 82

a. Wind over the oceans / HEIFRI & gal
& BRI

b. Gravitational pull of the moon / Zig#r
& BTSN REA1d & HROT

c. Rotation of the earth/gxdt & guH &
PR

d. Revolution of the earth/ged! afRehaT &
DR

When water freezes, its density

U1 & S8 WR 3P YR T YU TSI
Increases / §¢ SITd1 8

Decreases / g STdT &

remains constant / fRR Igar g
Becomes zero / Y= 1 SITdT §

oo oo
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38. A chemical reaction that takes
place with the evolution of heat
is called a/an
98 I fifear 71 Heard € sl
AU & ge UR geadt gl
. Reversible reaction / ufdad ufafear
b. Endothermic reaction / SSHTRIS!
gfafar
c. Thermal reaction / @ ufafear
d. Exothermic reaction / IsATadt ufafssan

39. The process of manufacture of iron
from its ore involves
Pl UTg I g 9911 &1 ufebar § Fa
e smar 82
a. Oxidation / 3fieiienRor
b. Reduction / &4t
c. Fractional distillation / 3fif1% 3frga
d. Redox reduction / RSleq &1 ot

40. A double convex air bubble in

water would behave as a

g1- ST UT BT JAAT BT AR

BN

a. Convergent lens / 3fERY ofd

b. Divergent lens / 309l a8

c. Both as convergent and divergent
lenses / 1T SFYRROT 3R STHT-SET
CoRoU k|

d. None of them / 378 I &3 o 7t

41. 6.46 in the fractional form is
§.¥¢& 3Mfe Tu A w82
a. 646/99
b. 64640/1000
c. 640/100
d. 646/100

42. In an examination, 80% of the
students passed in English, 85%
in Mathematics and 75% in both
English and Mathematics. If 40
students failed in both the subject,
find the total number of students.
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T e H 80% BT U A URI 8l §
3T 85% BT T H UTT gl & 3% Y%
o a1 vy sl o e & # ura g
& 3R Yo B Gl fAvg A ha gla § d ol
B @1 Ie 9§ 9 T gt

400

450

500

600

o0 o

43. The largest number from among
2,334 is
V2,334, % @ w9t Wem #1032
a 2

b. V3

c. V4

d. All are equal / ot T 8

44. In 10 years, A will be twice as old as
B was 10 years ago, If Aisnow 9
years older than B, the present age
of Bis
10 AT | A, B B1 10 a9 Yd 3T & ST &
ST afe A 319l B & 9 T 98T 8 oY B BY
JaqT= g T ghfi??
a. 19 years
b. 29 years
c. 39 years
d. 49 years

45. Curved surface area of a hemisphere
L ?
T Ml & GATIGR & Tqg BT & B FT
gRI?
a. 3m
b. 2m?
c. 4m?
d. mr?
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48.
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If Sin 0/Cos 0 =1 then 0=............... ?
a. 60

b. 30

c. 45

d. 90

If the radius of a circle is increased
by 75%, then its circumference will
increase by

s gd @1 s ® 7500 e 8, @t
Sa@! gify & fesat gfes gt

a. 25%

b. 50%

c. 75%

d. 100%

The simple interest on a sum of

money at 8% per annum for 6 years

is half the sum. The sum is

6 |Td & 1T 8% Wfaad AR 9T @R WX
gfe g A 39 0y & aeht g) ot @ <t
98 IR a1 ghi?

a. Rs.4800

b. Rs.6000

c. Rs.8000

d. None of these/ 378 I ®I3 gl
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49. A car is running at a speed of 108
km/h. What distance will it cover in
15 seconds

T HR 108 fFH/ R P afaATa @ g1 o
qE 15 DS | fpa-t gl aa & a2

a.

45m

b. 55m

C.
d.

450 m
None of these

50. The HCF of 2/3, 8/9, 64/81 and 10/27 is
of 2/3, 8/9, 64/81 3N 10/27 BT H.H.U. JTd

Fifoe

o oo

2/3
2/81
160/3
160/81
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Answer Key:

1.(c) v 2. (d) v 3.(c) v 4. (d) v 5. (b) v 6. (d) v 7. (¢) v 8.(c) v 9. (¢) v 10. (b) v 11. (b) v/
12. (b) v 13. (d) v 14. (2) v 15. (3) v 16. (b) v 17. (b) v 18. (a) v 19. (d) v 20. (c) v 21. (a) v/
22. (a) v 23. (b) v 24. (b) v 25. (b) v 26. (c) v 27. (b) ¥ 28. (d) v 29. (a) v 30. (c) v 31. (b) v/
32. (a) v 33. (a) v 34. (c) v 35. (b) v 36. (b) v 37. (b) v 38. (d) v 39. (d) v 40. (b) v 41. (d) v

42. (a) v 43. (b) v 44. () v 45. (b) v 46. () v 47. (c) v 48. (d) v 49. (c) v 50. (b) v/

Jai Hind

Team 4ono.com

Download More @ www.40ono.com


http://www.4ono.com/

